

## **Fleet/Government Sales**

8800 Stanford Blvd. Columbia, MD 21045

City of Hyattsville 4310 Gallatin Street Hyattsville, MD 20781

02/22/22

Quote for 2022 Ford Explorer Police Interceptor AWD Riding the MD BPO#0001B1600355.

Vehicle	2022 Ford Police Interceptor AWD	\$32,215.00
99B	3.0L Ecoboost Engine	\$3,301.00
44U	10 Speed Auto Trans	N/C
16C	Carpet Floor Covering	N/C
16D	Badge Delete	N/C
18D	Global Lock/Unlock	N/C
19K	H8 AMG Battery	\$125.00
19V	Rear Camera on Demand	\$250.00
21L	Front Aux Lights	\$575.00
43D	Court. Lamp Disable	\$30.00
55B	Blind Spot System	\$560.00
55F	Keyless Entry (4 Fobs)	\$450.00
593	Anti-Theft System	\$125.00
60A	Grille Wiring Prep	\$65.00
60R	Noise Suppression Bonds	\$150.00
64E	18" Alum Rims	\$575.00
68B	Perimeter Alert	\$725.00
76D	Deflector Plate	\$345.00
76P	Pre-Collision Assist	\$155.00
76R	Revers Sensing System	\$279.00
65U	Interior Upgrade (True Center Console)	\$455.00
86T	RR Taillamp Housing	\$75.00
87R	Rear View Camera In Mirror	N/C
153	Front Tag Bracket	N/C
Color	Any Standard	
Interior	Front Cloth Rear Cloth	
Delivery Days	200	
	Net Price:	\$40,455.00
ΓΥ 2	Total Price:	\$80,910

Please contact me with any questions, changes, or to finalize your order. I look forward to hearing from you. You can reach me at 443-539-1223 or by e-mail at: Jskipper@AppleFord.com.



#### **Fleet/Government Sales**

8800 Stanford Blvd. Columbia, MD 21045

2/07/2022

City of Hyattsville 4310 Gallatin Street Hyattsville, MD 20781

Quote for 2022 Ford Explorer Interceptor AWD Riding the MD BPO#0001B1600355.

Vehicle (Line 6)	2022 Ford Explorer AWD PIU 3.0L Ecoboost	\$35,516.00
52P	Door Lock Plunger	\$160.00
17A	AUX Climate Control	\$610.00
18D	Global Lock/Unlock	N/C
19K	H8 AGM Battery	\$110.00
19V	Rear Camera On Demand	\$230.00
21L	Front AUX Light	\$550.00
43D	Courtesy Lamp Disable	\$25.00
51R	Drivers Side LED Spot Lamp	\$395.00
55B	Blind Spot Info	\$545.00
55F	Keyless Entry (4 Fobs)	\$340.00
593	Anti-Theft	\$120.00
60A	Grille Wiring	\$50.00
60R	Noise Suppression Bonds	\$100.00
63B	Side Marker Lights	\$290.00
68G	Rear Door Locks In OP	N/C
76D	Deflector Plate	\$335.00
76P	Pre-Collision Assist	\$145.00
76R	Reverse Sensing System	\$275.00
86T	RR Taillamp Housing	\$60.00
87R	Rear View Cam In Mirror	N/C
153	Front Tag Bracket	N/C
68B	Perm. Alert	\$725.00
Color	Iconic Silver	
Trim	Front Cloth Rear Vinal	
Delivery Days	180	
	Net Price:	\$40,581.00
QTY 4	Total Price:	\$162,324

Please contact me with any questions, changes, or to finalize your order. I look forward to hearing from you. You can reach me at 443-539-1223 or by e-mail at: Jskipper@AppleFord.com.

Thank you, Justin Skipper



We have prepared a quote for you MARKED\_UTILITY\_NOCAGE\_SIMPLE

Quote # FLMSE050812 v1

Prepared for: Hyattsville City Police Dept

Prepared by: Sarah Ellison



Lighting - Siren	S	Price	Qty	Ext. Price
6236	LIGHTBAR			
ENNLB-18	54"/137cm 9-32 VOLT NFORCE NXT LED LIGHTBAR W/ 15' LIN DSC TECHNOLOGY - ENNLB00PP9-28A - QE092294	\$2,078.00	1	\$2,078.00
	HEADLIGHTS			
ELUC3H010J	SOS - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue	\$70.00	2	\$140.00
	GRILL LIGHTS			
EMPS100LL-8	SO - 3" mpower Fascia with Stud Mount - R/B/W - QE092294	\$115.00	2	\$230.00
	PROFILE LIGHTS			
EMPS20168-J	4" mpower Fascia with Stud Mount - 12 LED 9-32 Volt SAE with 8' Pigtail - Black Housing with Clear LensRED/BLU - Q# - QE051238	\$116.00	2	\$232.00
PMP2WSSSB	SOS - Window Shroud Kit for 4" Light w/ Stud Mount - Black	\$8.00	2	\$16.00
	REAR DECK			
EMPS20168-J	4" mpower Fascia with Stud Mount - 12 LED 9-32 Volt SAE with 8' Pigtail - Black Housing with Clear LensRED/BLU - Q# - QE051238	\$116.00	2	\$232.00
PMP2WSSSB	SOS - Window Shroud Kit for 4" Light w/ Stud Mount - Black	\$8.00	2	\$16.00
	LICENSE PLATE LIGHTS			
EMPS201NV-J	4" mpower Fascia with Quick Mount - 12 LED 9-32 Volt SAE with 8' Pigtail - Black Housing with Clear LensRED/BLU - Q# - QE051238	\$116.00	2	\$232.00
	TAIL LIGHTS			
ELUC3H010R	SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher - Single Color Red	\$66.00	2	\$132.00
ELUC3H010B	SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Single Color Blue	\$66.00	2	\$132.00
	LIFT GATE AND CARGO LIGHTS			

Quote#FLMSE050812 v1 Page: 2 of 7



Lighting - Sirens		Price	Qty	Ext. Price
EMPS103EX-J	SOS - 3" mpower with Screw Mount8 LED with8' Pigtail Black Housing with Clear Lens RED/BLU- QE092294	\$106.00	2	\$212.00
EML6E20RW	SO - ML6 LED Flush Mount Light, SAE J595 Class 2 Certified & ECE 410.05, 10-30 volts, 10 Inch cable - Dual Color Red/White	\$50.00	2	\$100.00
	CARGO/DOME LIGHTS			
ECVDMLTALD C	Sound Off - LED Dome Light - 6" Round, w/ Red LED Night Light, fits Dodge Charger, Ford PI Sedan & Utility, 10-30V, White Lens / White LEDs	\$62.00	1	\$62.00
	BLUEPRINT AND LINK (includes speakers and siren)			
ENGLMK008	SOS - bluePRINT Link® Micro Module and Vehicle Harness for Ford Transit 2020-2021, Ford Explorer / Police Interceptor Utility (PIU) 2016-2021, Ford F150 2017-2020 only, Ford F250-F550 2017-2021	\$258.00	1	\$258.00
ENGSA581RS P	SOS - 500 Series Remote Siren with Button Control, 10-16v - for one 100 watt speaker	\$724.00	1	\$724.00
ETSS100J5	Sound Off - 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	\$152.00	1	\$152.00
ETSSVBK01	SO - 2020 Ford Utility Speaker bracket SO - 2020 Ford Utility Speaker bracket	\$25.00	1	\$25.00
ENGND04101	SO - bluePRINT® Remote Node, 4 Active High/Low Inputs, 10 Ou	\$188.00	2	\$376.00
	SO - bluePRINT® Remote Node, 4 Active High/Low Inputs, 10 Outputs (50 Amps max)			
ENGHNK03	10 ft Harness Kit for Remote Node 10 ft Harness Kit for Remote Node	\$68.00	2	\$136.00
ENGSYMD01	SOS - bluePRINT Sync® Module	\$210.00	1	\$210.00
		Sı	ubtotal:	\$5,695.00

Console - Moun	its The Control of th	Price	Qty	Ext. Price
	CONSOLE AND DOCK SOLUTION			
AS7.P031.100- PS-1	PMT - CF-31 NPT DOCK W POWER ADAPTER	\$864.00	1	\$864.00
	Includes universal flat mounting plate and Power Adapter (PS004)			

Quote#FLMSE050812 v1 Page: 3 of 7



Console - Moun	ts	Price	Qty	Ext. Price
AS4.C237.601	PMT - 2020 SUV CONSOLE w/ ARBITRATOR**no arm rest cushion 2020 INT SUV CONSOLE W/MOUSETRAP	\$504.00	1	\$504.00
AS5.N101.003	PMT - MOUSETRAP WITH WEDGE TILT - Includes wedge tilt	\$237.00	1	\$237.00
AS9.C125.030-	PMT - USB CONTAINER TRAY	\$81.00	1	\$81.00
AS4.C501.015-	4" BREAKAWAY ARMREST w/ SWIVEL AND SINGLE CUP HOLDER  **Included with console purchase	\$0.00	1	\$0.00
7160-0314	ARMREST PRINTER MOUNT, NO POLE ARMREST PRINTER MOUNT, NO POLE 7160-0314	\$166.00	1	\$166.00
17040	GJ - Magnetic Mic - Microphone Hang-Up Mount	\$31.00	1	\$31.00
		S	ubtotal:	\$1,883.00

" " " " " " "		Price	Qty	Ext. Price
TP-20-UV- FXPL-RL	Troy - 2020+ PI Utility rear partition w/polycarbonate window, driver side fire ext. compartment and pass. side locking storage compartment	\$596.00	1	\$596.00
		S	ubtotal:	\$596.00

Push Bar - Rad	cks	Price	Qty	Ext. Price
	LOFT GUN RACK			
LOFT-PIU20- 2G-AO	LUND - 20+ Ford FPIU Loft Dual Weapon Storage Tray w/ Auto Open - Interior Dimension 16.5" x 40" LOFT-PIU20-2G-AO Includes 2 Gun Locks, Muzzle Bracket Assembly, Butt Cup & Momentary Push Button Switch. For use with a 18" Shotgun & M4	\$1,074.00	1	\$1,074.00
		Sı	ubtotal:	\$1,074.00

Antennas - Rad	ios	Price	Qty	Ext. Price
TSH- HYATTSVILLE- 001	TSH-Hyattsville-001 Sharkee antenna Kit will connect:1X 7/800 radio moto2X arbitrator wifi1X arbitrator gps	\$275.00	1	\$275.00
		Subtotal:		\$275.00

Quote#FLMSE050812 v1 Page: 4 of 7



Technology		Price	Qty	Ext. Price
	ARMREST ETIX			
3320G-LTC- ETIX	3320G Vuquest 2D Barcode Imaging Kit for E-TIX. Includes Scanner and 9.5' Straight USB Interface Cable	\$285.00	1	\$285.00
PJ723	PJ7 300DPI DT PRINTER WITH USB (ONLY INCLUDES THE PRINTER. REQUIRES POWER, USB	\$378.00	1	\$378.00
LB3692	POCKETJET ADAPTER - WIRED - 14 FOOT	\$23.00	1	\$23.00
LB3603	USB CABLE - 10 FOOT LENGTH	\$11.00	1	\$11.00
27402	4-PORT USB 2.0 HUB CABLE - GREY	\$16.00	1	\$16.00
	ARBITRATOR SYSTEM		<b>成</b> 一	
WJ-VPU4000	VPU4000 RECORDING UNIT ONLY	\$2,617.00	1	\$2,617.00
WV-VC35	ARBITRATOR IN-CAR AS-1 COMPATIBLE CAMERA	\$864.00	1	\$864.00
WV-VC31	BACK SEAT CAMERA	\$375.00	1	\$375.00
IPS-ICV4-ACC	I-PRO ACC KIT FOR VPU4000, 256GB SSD, POWER DIST BOX, BATTERY BKUP, 25 ETHERNET	\$597.00	1	\$597.00
ARB-M24	2.4 GHZ WIRELESS MICROPHONE	\$631.00	1	\$631.00
IPS-ICV4-ANT- BL	PANORAMA SHARK FIN FOR ICV4000, 4 WLAN, 1 BT, 1 GPS BLACK	\$315.00	1	\$315.00
IPS-ICV4- 256SSD	256GB RUGGED SSD FOR VPU4000 W/PULL TAB, W/AES ENCRYPTION	\$136.00	1	\$136.00
ARB- SOFUDEICV- OP3	ICV ON-PREM DEVICE LIC 3 YRS, INCL. UNIFIED DIGITAL EVIDENCE W/ CLOUD DEVICE MGM	\$334.00	1	\$334.00
	BODY WORN CAMERA AND VEHICLE EQUIP			
ARB-BWC4- CAMERA	BWC4000 CAMERA ONLY (INCLUDES KLICK FAST MOUNTING STUD)	\$861.00	1	\$861.00

Quote#FLMSE050812 v1 Page: 5 of 7



Technology		Price	Qty	Ext. Price
ARB-BWC4- BATTERY	BWC4000 REPLACEABLE BATTERY	\$170.00	1	\$170.00
ARB-BWC4- MNT-KIT	BWC4000 MOUNT KIT INCLUDING BELT CLIP, MAGNET, MOLLE, VESTMNT, STUD	\$119.00	1	\$119.00
ARB-BWC4- 1DOCKWIRE	BWC4000 SINGLE DOCKING CHARGER STATION W/12V HARNESS	\$235.00	1	\$235.00
		S	ubtotal:	\$7,967.00

Misc Additions		Price	Qty	Ext. Price
	DECALS			
Vehicle-Upfit- Decal	Decal - Graphics and install	\$1,000.00	1	\$1,000.00
	ELECTRONICS TRAY			
CP-UV20- CARGO	Troy - 2020+ PI Utility tilt-up cargo mount w/gas shocks.	\$560.00	1	\$560.00
AC-20-UV- TRAY	Troy - 2020+ PI Utility electronics tray bolts to CP-UV20- CARGO	\$188.00	1	\$188.00
	INSTALL KIT			
Vehicle-Upfit- Supplies	Misc. Material to include connectors, wire, and hardware	\$360.00	1	\$360.00
		Sı	ubtotal:	\$2,108.00

Installation		Price	Qty	Ext. Price
Vehicle-Upfit- Marked	Complete Upfit - Marked Patrol Car - Labor Only	\$3,420.00	1	\$3,420.00
		S	ubtotal:	\$3,420.00

Quote#FLMSE050812 v1 Page: 6 of 7



### MARKED\_UTILITY\_NOCAGE\_SIMPLE



Prepared by:

**Frontline Mobile Tech** 

Sarah Ellison 240-280-8964 ext. 202 Fax 240.360.4538 sellison@frontlinemobiletech. com Bill to:

Hyattsville City Police Dept

4310 Gallatin St Hyattsville, MD 20781 Chris Purvis (301) 985-5060 cpurvis@hyattsville.org Ship to:

Hyattsville City Police Dept

4310 Gallatin St Hyattsville, MD 20781 Jarod Towers (301) 985-5060 jtowers@hyattsville.org Quote Information:

Quote #: FLMSE050812

Version: 1 Delivery Date: 12/28/2021 Expiration Date: 01/27/2022

#### **Quote Summary**

Description		Amount
Lighting - Sirens		\$5,695.00
Console - Mounts		\$1,883.00
Transport Systems		\$596.00
Push Bar - Racks		\$1,074.00
Antennas - Radios		\$275.00
Technology		\$7,967.00
Misc Additions		\$2,108.00
Installation		\$3,420.00
	Subtotal:	\$23,018.00
	Shipping:	\$580.00
	Total:	\$23,598.00
	QTY 3 Total	\$70,794.00

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

				_
Front	line	Mob	ile	Lech

Hyattsville City Police Dept

Signature:	Sarah	Signature:		
Name:	Sarah Ellison	Name:	Jarod Towers	
Title:	President - Front Line Mobile Tech	Date:		
Date:	12/28/2021			

Quote#FLMSE050812 v1 Page: 7 of 7



We have prepared a quote for you MARKED\_UTILITY\_CAGE\_SIMPLE

Quote # FLMSE050811 v1

Prepared for: Hyattsville City Police Dept

Prepared by: Sarah Ellison



Lighting - Siren	S	Price	Qty	Ext. Price
	LIGHTBAR			
ENNLB-18	54"/137cm 9-32 VOLT NFORCE NXT LED LIGHTBAR W/ 15' LIN DSC TECHNOLOGY - ENNLB00PP9-28A - QE092294	\$2,078.00	1	\$2,078.00
	HEADLIGHTS			
ELUC3H010J	SOS - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue	\$70.00	2	\$140.00
	GRILL LIGHTS			
EMPS100LL-8	SO - 3" mpower Fascia with Stud Mount - R/B/W - QE092294	\$115.00	2	\$230.00
	PROFILE LIGHTS			
EMPS20168-J	4" mpower Fascia with Stud Mount - 12 LED 9-32 Volt SAE with 8' Pigtail - Black Housing with Clear LensRED/BLU - Q# - QE051238	\$116.00	2	\$232.00
PMP2WSSSB	SOS - Window Shroud Kit for 4" Light w/ Stud Mount - Black	\$8.00	2	\$16.00
	REAR DECK			
EMPS20168-J	4" mpower Fascia with Stud Mount - 12 LED 9-32 Volt SAE with 8' Pigtail - Black Housing with Clear LensRED/BLU - Q# - QE051238	\$116.00	2	\$232.00
PMP2WSSSB	SOS - Window Shroud Kit for 4" Light w/ Stud Mount - Black	\$8.00	2	\$16.00
	LICENSE PLATE LIGHTS			
EMPS201NV-J	4" mpower Fascia with Quick Mount - 12 LED 9-32 Volt SAE with 8' Pigtail - Black Housing with Clear LensRED/BLU - Q# - QE051238	\$116.00	2	\$232.00
	TAIL LIGHTS			
ELUC3H010R	SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher - Single Color Red	\$66.00	2	\$132.00
ELUC3H010B	SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher â€" Single Color Blue	\$66.00	2	\$132.00
	LIFT GATE AND CARGO LIGHTS			

Quote#FLMSE050811 v1 Page: 2 of 8



Lighting - Sirens	S	Price	Qty	Ext. Price
EMPS103EX-J	SOS - 3" mpower with Screw Mount8 LED with8' Pigtail Black Housing with Clear Lens RED/BLU- QE092294	\$106.00	2	\$212.00
EML6E20RW	SO - ML6 LED Flush Mount Light, SAE J595 Class 2 Certified & ECE 410.05, 10-30 volts, 10 Inch cable - Dual Color Red/White	\$50.00	2	\$100.00
	CARGO/DOME LIGHTS			
ECVDMLTALD C	Sound Off - LED Dome Light - 6" Round, w/ Red LED Night Light, fits Dodge Charger, Ford PI Sedan & Utility, 10-30V, White Lens / White LEDs	\$62.00	1	\$62.00
	BLUEPRINT AND LINK (includes speakers and siren)			
ENGLMK008	SOS - bluePRINT Link® Micro Module and Vehicle Harness for Ford Transit 2020-2021, Ford Explorer / Police Interceptor Utility (PIU) 2016-2021, Ford F150 2017-2020 only, Ford F250-F550 2017-2021	\$258.00	1	\$258.00
ENGSA581RS P	SOS - 500 Series Remote Siren with Button Control, 10-16v - for one 100 watt speaker	\$724.00	1	\$724.00
ETSS100J5	Sound Off - 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	\$152.00	1	\$152.00
ETSSVBK01	SO - 2020 Ford Utility Speaker bracket SO - 2020 Ford Utility Speaker bracket	\$25.00	1	\$25.00
ENGND04101	SO - bluePRINT® Remote Node, 4 Active High/Low Inputs, 10 Ou	\$188.00	2	\$376.00
	SO - bluePRINT® Remote Node, 4 Active High/Low Inputs, 10 Outputs (50 Amps max)			
ENGHNK03	10 ft Harness Kit for Remote Node 10 ft Harness Kit for Remote Node	\$68.00	2	\$136.00
ENGSYMD01	SOS - bluePRINT Sync® Module	\$210.00	1	\$210.00
		Sı	ıbtotal:	\$5,695.00

Console - Moun	ts	Price	Qty	Ext. Price
	CONSOLE AND DOCK SOLUTION			
AS7.P031.100- PS-1	PMT - CF-31 NPT DOCK W POWER ADAPTER	\$864.00	1	\$864.00
	Includes universal flat mounting plate and Power Adapter (PS004)			

Quote#FLMSE050811 v1 Page: 3 of 8



Console - Moun	ats	Price	Qty	Ext. Price
AS4.C237.601	PMT - 2020 SUV CONSOLE w/ ARBITRATOR**no arm rest cushion	\$504.00	1	\$504.00
	2020 INT SUV CONSOLE W/MOUSETRAP			
AS5.N101.003	PMT - MOUSETRAP WITH WEDGE TILT - Includes wedge tilt	\$237.00	1	\$237.00
AS9.C125.030- 6	PMT - USB CONTAINER TRAY	\$81.00	1	\$81.00
AS4.C501.015-	4" BREAKAWAY ARMREST w/ SWIVEL AND SINGLE CUP HOLDER	\$0.00	1	\$0.00
	**Included with console purchase			
7160-0314	ARMREST PRINTER MOUNT, NO POLE ARMREST PRINTER MOUNT, NO POLE 7160-0314	\$166.00	1	\$166.00
17040	GJ - Magnetic Mic - Microphone Hang-Up Mount	\$31.00	1	\$31.00
		Sı	ıbtotal:	\$1,883.00

Transport Syste	ems	Price	Qty	Ext. Price
PS-20UV-SC- OS-R	Troy - 2020+ Single cell with poly window; half cage, kick panel w/ foot pocket, metal/poly divider with removable panel (Patent Pending), center seat floor plate, replacement plastic seat with OS seatbelt system, TROY rear partition square-hole pattern w	\$1,740.00	1	\$1,740.00
PS-20-FDUV- PAN	Troy - 2020+ PI Utility Plastic Floor Pan with V-Drain	\$266.00	1	\$266.00
WG-20-FDUV- SET	Troy - 2020+ PI Utility driver/passenger side window guards, welded bars, vertical design.	\$199.00	1	\$199.00
DP-UV20-SET	Troy - 2020+ PI Utility driver and passenger side door panel (SET)	\$203.00	1	\$203.00
		Sı	ıbtotal:	\$2,408.00

Push Bar - Racks		Price	Qty	Ext. Price
	LOFT GUN RACK			
LOFT-PIU20- 2G-AO	LUND - 20+ Ford FPIU Loft Dual Weapon Storage Tray w/ Auto Open - Interior Dimension 16.5" x 40" LOFT-PIU20-2G-AO Includes 2 Gun Locks, Muzzle Bracket Assembly, Butt Cup & Momentary Push Button Switch. For use with a 18" Shotgun & M4	\$1,074.00	1	\$1,074.00

Quote#FLMSE050811 v1 Page: 4 of 8



Push Bar - Racks	Price Qty	Ext. Price
	Subtotal:	\$1,074.00

Antennas - Rad	ios	Price	Qty	Ext. Price
TSH- HYATTSVILLE- 001	TSH-Hyattsville-001 Sharkee antenna Kit will connect:1X 7/800 radio moto2X arbitrator wifi1X arbitrator gps	\$275.00	1	\$275.00
		Si	ubtotal:	\$275.00

Technology		Price	Qty	Ext. Price
	ARMREST ETIX			
3320G-LTC- ETIX	3320G Vuquest 2D Barcode Imaging Kit for E-TIX. Includes Scanner and 9.5' Straight USB Interface Cable	\$285.00	1	\$285.00
PJ723	PJ7 300DPI DT PRINTER WITH USB (ONLY INCLUDES THE PRINTER. REQUIRES POWER, USB	\$378.00	1	\$378.00
LB3692	POCKETJET ADAPTER - WIRED - 14 FOOT	\$23.00	1	\$23.00
LB3603	USB CABLE - 10 FOOT LENGTH	\$11.00	1	\$11.00
27402	4-PORT USB 2.0 HUB CABLE - GREY	\$16.00	1	\$16.00
	ARBITRATOR SYSTEM			
WJ-VPU4000	VPU4000 RECORDING UNIT ONLY	\$2,617.00	1	\$2,617.00
WV-VC35	ARBITRATOR IN-CAR AS-1 COMPATIBLE CAMERA	\$864.00	1	\$864.00
WV-VC31	BACK SEAT CAMERA	\$375.00	1	\$375.00
IPS-ICV4-ACC	I-PRO ACC KIT FOR VPU4000, 256GB SSD, POWER DIST BOX, BATTERY BKUP, 25 ETHERNET	\$597.00	1	\$597.00
ARB-M24	2.4 GHZ WIRELESS MICROPHONE	\$631.00	1	\$631.00

Quote#FLMSE050811 v1 Page: 5 of 8



Technology		Price	Qty	Ext. Price
IPS-ICV4-ANT- BL	PANORAMA SHARK FIN FOR ICV4000, 4 WLAN, 1 BT, 1 GPS BLACK	\$315.00	1	\$315.00
IPS-ICV4- 256SSD	256GB RUGGED SSD FOR VPU4000 W/PULL TAB, W/AES ENCRYPTION	\$136.00	1	\$136.00
ARB- SOFUDEICV- OP3	ICV ON-PREM DEVICE LIC 3 YRS, INCL. UNIFIED DIGITAL EVIDENCE W/ CLOUD DEVICE MGM	\$334.00	1	\$334.00
	BODY WORN CAMERA AND VEHICLE EQUIP			
ARB-BWC4- CAMERA	BWC4000 CAMERA ONLY (INCLUDES KLICK FAST MOUNTING STUD)	\$861.00	1	\$861.00
ARB-BWC4- BATTERY	BWC4000 REPLACEABLE BATTERY	\$170.00	1	\$170.00
ARB-BWC4- MNT-KIT	BWC4000 MOUNT KIT INCLUDING BELT CLIP, MAGNET, MOLLE, VESTMNT, STUD	\$119.00	1	\$119.00
ARB-BWC4- 1DOCKWIRE	BWC4000 SINGLE DOCKING CHARGER STATION W/12V HARNESS	\$235.00	1	\$235.00
		Sı	ubtotal:	\$7,967.00

Misc Additions		Price	Qty	Ext. Price
	DECALS			
Vehicle-Upfit- Decal	Decal - Graphics and install	\$1,000.00	1	\$1,000.00
	ELECTRONICS TRAY			
CP-UV20- CARGO	Troy - 2020+ PI Utility tilt-up cargo mount w/gas shocks.	\$560.00	1	\$560.00
AC-20-UV- TRAY	Troy - 2020+ PI Utility electronics tray bolts to CP-UV20- CARGO	\$188.00	1	\$188.00
	INSTALL KIT			
Vehicle-Upfit- Supplies	Misc. Material to include connectors, wire, and hardware	\$360.00	1	\$360.00
		Sı	ubtotal:	\$2,108.00

Quote#FLMSE050811 v1 Page: 6 of 8



Installation		Price	Qty	Ext. Price
Vehicle-Upfit- Marked	Complete Upfit - Marked Patrol Car - Labor Only	\$3,800.00	1	\$3,800.00
		Sı	ubtotal:	\$3,800.00

Quote#FLMSE050811 v1 Page: 7 of 8



## MARKED\_UTILITY\_CAGE\_SIMPLE



Prepared by:

Frontline Mobile Tech

Sarah Ellison 240-280-8964 ext. 202 Fax 240.360.4538 sellison@frontlinemobiletech. (301) 985-5060 com

Bill to:

**Hyattsville City Police** Dept

4310 Gallatin St Hyattsville, MD 20781 Chris Purvis cpurvis@hyattsville.org Ship to:

**Hyattsville City Police** Dept

4310 Gallatin St Hyattsville, MD 20781 **Jarod Towers** (301) 985-5060 jtowers@hyattsville.org Quote Information:

Quote #: FLMSE050811

Version: 1 Delivery Date: 12/28/2021 **Expiration Date:** 01/27/2022

#### **Quote Summary**

Description	Amou
Lighting - Sirens	\$5,695.0
Console - Mounts	\$1,883.0
Transport Systems	\$2,408.0
Push Bar - Racks	\$1,074.0
Antennas - Radios	\$275.0
Technology	\$7,967.0
Misc Additions	\$2,108.0
Installation	\$3,800.0
	Subtotal: \$25,210.0
	Shipping: \$580.0
	Total: \$25,790.0

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

_				
⊢	rontline	Mobi	9	ech
		IVIODI		

12/28/2021

Hyattsville City Police Dept

Signature:	Sarah	Signature:	
Name:	Sarah Ellison	Name:	Jarod Towers
Γitle:	President - Front Line Mobile Tech	Date:	

Date:



# We have prepared a quote for you UPFIT\_UNMARKED\_UTILITY

Quote # FLMSE050834 v1

Prepared for: Hyattsville City Police Dept

Prepared by: Sarah Ellison



Lighting - Sirens	3	Price	Qty	Ext. Price
	VISOR LIGHTBAR			
ENFWBF (12 LED)	SOS - nFORCE® 6 Module Interior Windshield Lightbar, 12 LEDs- Dual Color - ENFWB008TT - QE092294	\$724.00	1	\$724.00
	HEADLIGHTS			
ELUC3H010J	SOS - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue	\$70.00	2	\$140.00
	GRILL LIGHTS			
EMPS2006T-8	SOS - 4" mpower Stud Mount 18 LED - RBW - 8' - QE085290	\$128.00	2	\$256.00
PMP2BKDGAJ	SOS - 90 Degree Deck/Grille Adjustable Bracket Kit for mpower® 4" Fascia Light w/ Stud Mount - Black	\$13.00	2	\$26.00
	PROFILE LIGHTS			
EMPS20168-J	4" mpower Fascia with Stud Mount - 12 LED 9-32 Volt SAE with 8' Pigtail - Black Housing with Clear LensRED/BLU - Q# - QE051238	\$116.00	2	\$232.00
PMP2WSSSB	SOS - Window Shroud Kit for 4" Light w/ Stud Mount - Black	\$8.00	2	\$16.00
	REAR DECK			
ENFWBRF (12 LED)	SOS - nFORCE® 6 Module Interior Rear Deck Lightbar, Full 1 Piece Shroud, 12 LEDs – Dual Color - ENFWB001MP - QE092294	\$724.00	1	\$724.00
	TAIL LIGHTS			
ELUC3H010R	SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher - Single Color Red	\$66.00	2	\$132.00
ELUC3H010B	SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher â€" Single Color Blue	\$66.00	2	\$132.00
	LIFT GATE AND CARGO LIGHTS			
EMPS103EX-J	SOS - 3" mpower with Screw Mount8 LED with8' Pigtail Black Housing with Clear Lens RED/BLU- QE092294	\$106.00	2	\$212.00
EML6E20RW	SO - ML6 LED Flush Mount Light, SAE J595 Class 2 Certified & ECE 410.05, 10-30 volts, 10 Inch cable - Dual Color Red/White	\$50.00	2	\$100.00

Quote#FLMSE050834 v1 Page: 2 of 5



Lighting - Siren	S	Price	Qty	Ext. Price
	CARGO/DOME LIGHTS			
ECVDMLTALD C	Sound Off - LED Dome Light - 6" Round, w/ Red LED Night Light, fits Dodge Charger, Ford PI Sedan & Utility, 10-30V, White Lens / White LEDs	\$62.00	1	\$62.00
	BLUEPRINT AND LINK (includes speakers and siren)			
ENGLMK008	SOS - bluePRINT Link® Micro Module and Vehicle Harness for Ford Transit 2020-2021, Ford Explorer / Police Interceptor Utility (PIU) 2016-2021, Ford F150 2017-2020 only, Ford F250-F550 2017-2021	\$258.00	1	\$258.00
ENGSA581RS P	SOS - 500 Series Remote Siren with Button Control, 10-16v - for one 100 watt speaker	\$724.00	1	\$724.00
ETSS100J5	Sound Off - 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	\$152.00	1	\$152.00
ETSSVBK01	SO - 2020 Ford Utility Speaker bracket SO - 2020 Ford Utility Speaker bracket	\$25.00	1	\$25.00
ENGND04101	SO - bluePRINT® Remote Node, 4 Active High/Low Inputs, 10 Ou SO - bluePRINT® Remote Node, 4 Active High/Low Inputs, 10 Outputs (50 Amps max)	\$188.00	2	\$376.00
ENGHNK03	10 ft Harness Kit for Remote Node 10 ft Harness Kit for Remote Node	\$68.00	2	\$136.00
ENGSYMD01	SOS - bluePRINT Sync® Module	\$210.00	1	\$210.00
		Sı	ubtotal:	\$4,637.00

Console - Moun	ts ·	Price	Qty	Ext. Price
	CONSOLE AND DOCK SOLUTION			
17040	GJ - Magnetic Mic - Microphone Hang-Up Mount	\$31.00	1	\$31.00
PKG-VSX-1800 -INUT	Havis - Package - 2020-2021 Ford Interceptor Utility VSX Console with Front Bin, Cup Holder and Fuse Block	\$447.00	1	\$447.00
C-ARM-1001	Havis - Internal Mount Armrest with Lockable Accessory Pocket	\$196.00	1	\$196.00
		S	ubtotal:	\$674.00

Quote#FLMSE050834 v1 Page: 3 of 5



Push Bar - Rad	cks	Price	Qty	Ext. Price
	LOFT GUN RACK			
LOFT-PIU20- 2G-AO	LUND - 20+ Ford FPIU Loft Dual Weapon Storage Tray w/ Auto Open - Interior Dimension 16.5" x 40" LOFT-PIU20-2G-AO Includes 2 Gun Locks, Muzzle Bracket Assembly, Butt Cup & Momentary Push Button Switch. For use with a 18" Shotgun & M4	\$1,074.00	1	\$1,074.00
LOFT-PIU20- NPKIT	Lund - LOFT- Non-Partition Mount Kit with for 2020 PIU	\$130.00	1	\$130.00
		Sı	ubtotal:	\$1,204.00

Misc Additions		Price	Qty	Ext. Price
	ELECTRONICS TRAY			
CP-UV20- CARGO	Troy - 2020+ PI Utility tilt-up cargo mount w/gas shocks.	\$560.00	1	\$560.00
AC-20-UV- TRAY	Troy - 2020+ PI Utility electronics tray bolts to CP-UV20- CARGO	\$188.00	1	\$188.00
	INSTALL KIT			
Vehicle-Upfit- Supplies	Misc. Material to include connectors, wire, and hardware	\$360.00	1	\$360.00
		Sı	ubtotal:	\$1,108.00

Installation	Price	Qty	Ext. Price	
Vehicle-Upfit- Unmarked	Complete Upfit - Unmarked Police Car - Labor Only	\$2,850.00	1	\$2,850.00
		S	ubtotal:	\$2,850.00

Quote#FLMSE050834 v1 Page: 4 of 5



# UPFIT\_UNMARKED\_UTILITY



Prepared by:

Frontline Mobile Tech

Sarah Ellison 240-280-8964 ext. 202 Fax 240.360.4538 sellison@frontlinemobiletech. com Bill to:

Hyattsville City Police Dept

4310 Gallatin St Hyattsville, MD 20781 Chris Purvis (301) 985-5060 cpurvis@hyattsville.org Ship to:

Hyattsville City Police Dept

4310 Gallatin St Hyattsville, MD 20781 Jarod Towers (301) 985-5060 jtowers@hyattsville.org Quote Information:

Quote #: FLMSE050834

Version: 1 Delivery Date: 12/30/2021 Expiration Date: 01/29/2022

#### **Quote Summary**

Description		Amount
Lighting - Sirens		\$4,637.00
Console - Mounts		\$674.00
Push Bar - Racks		\$1,204.00
Misc Additions		\$1,108.00
Installation		\$2,850.00
	Subtotal:	\$10,473.00
	Shipping:	\$340.00
	Total:	\$10,813.00
	Qty 2 Total:	\$21,626.00

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

F	ront	line	Mobi	le	Tech

Hyattsville City Police Dept

Signature:	Sarah	Signature:		
Name:	Sarah Ellison	Name:	Jarod Towers	
Title:	President - Front Line Mobile Tech	Date:		
Date:	12/30/2021			